DIVISION WITH A REMAINDER (H - SET 3)

CHALLENGE Hame
Time: Score: A
151) 89844 = 9 = 166) 28829 = 8 =
152) 9580 = 9 — 167 52946 + 5 =
153) 50282 = 6 = 168) 6720 = 12 =
151 4116 + 8 = 169 9605 + 3 =
1) 18773 =2 = 70) 53477 +8 =
156 17937 + 2 = ) 505 +2 =
57 102725 + 12 = 172 108886 + 12 =

59 8778 + 2 =

59 11191 + 2 =

160 61676 + 11 =

w61 117827 + 10 =

162) 34092 =7 =

169 36655 +— 5 =

09 14549 + 2 =

169 64646 <+ 10 =

Mathematics: Division - Level 7 - Horizontal - Set 3

473)

474)

475)

476)

477)

478)

479)

480)

17

2741 +1 =

49159 + 8 =

53332 + 7 =

7206 +4 =

28690 + 4 =

25301 =3 =

42556 + 9 =

53474 + 10 =
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